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Write These answers in Roman Numerals

Ten red appes and two green apples are in the bsaket.how
many apples are in the basket?

Five Red Oranges and six green oranges are in the basket.how
many oranges are in the basket?

Nineteen apples are in the basket.more apples were added
to the basket.now there are twenty-six apples.how many
apples were added to the basket?

Twenty peaches are in the basket.four more peaches are put in
the basket.how many peaches are in the basket now?

Some peaches were in the basket .five more peaches were added
to the basket.now there are seven peaches.how many peaches
were in the basket before more peaches were added?
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